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DIRECTTIONS:
Do not open this booklet until you are told to do so.

This is a test of your competence in high school algebra. For each problem
there are listed 5 possible answers; one and only one is correct. You are to work
each problem, determine the correct answer, and indicate your choice by making a
heavy black mark in the correct place on the separate answer sheet provided. You
must use a pencil with soft lead (No. 2 lead or softer). A sample problem follows:

1. TIf 2x = 3, then =x equals

) , A B c D E
(). 2/3.  (®). 3. (c) 6.
| I I I I

(&), 3/2, (e). none of these

The correct answer for the sample problem is 3/2, which 1s answer (d); so you
would answer this problem by making a heavy black mark under space D as indicated
above.

This test has been constructed so that most of you are not expected to answer
all questions. Do your very best on the questions you feel you know how to work.
You will be penalized for incorrect answers so it is advisable not to do much wild

guessing.

If you should change your mind about an answer, be sure to erase completely.
Do not mark more than one answer for any problem. Make no stray marks of any kind

on your answer sheet.

The answer sheets will be used for a statewide statistical compilation and
will not be returned to you. If you wish a record of your performance, mark your
answers in this booklet also. You will be able to keep thig booklet after the
test is completed.

When told to do so, open vour test booklet to page 1 and begin. When you
have finished one page, go on to the next. The working time for the entire test
is 80 minutes.



What is the remainder when 2x3 + llx2 - 31x 4+ 20 ig divided by 2x - 3 ?

(a) ©
(b) 5
(e) 10
(dy -3
(e} 11

Find the distance between the points P(-2,3) and Q(5,4).

(a) W2
(®) 5
(¢) 2
(@ V8
ey 1

Which of the following sets of ordered pairs does not represent a function?
(a) {(@,1), (2,2), (3,3), (4,8}

() {(1,-1), (2,0), (3,-1), (4,0)}

(¢) 1(1,5), (2,5), (3,5), (4,5))

(@) {(1,1), (2,4), (3,9), (4,17)}

(e) {(1,2), (3,4), (4,1), (1,3)}

The greatest common divisor of 640 and 1032 1is
(a) 2

(b) 4

(c) 16

(d) 8

(e) 64



; 2
If x is a real number and x~ < x, then

(a) x <0
b) =0
(c) x> 1

(d) 0<x<1

(e} x < -1

The lines with equations 3x + 2y = 5 and 2 -~y =1 have
(a) no common point

{b) exactly one common point

{c) exactly two common points

{(d) exactly three common points

{e) dinfinitely many common points

The solution set of 531« - Eé;‘ + %— =8 is

(a) {21}

(b) {12, -12}

(c) {8}
(d) {84, 96}
ey {1}

Last year George's salary was $100 per week. In January he received a 20%
pay increase, but in June his pay was reduced by 20%. How much is George
earning per week now?

(a) $110
(b) $104
() 4100
(d) 896

{e) $90



9.

10.

11,

12.

The equa
(a) x
)
() x°
@ x
(e) x°
The sum
number b
(a) 10
(b) 21
2
(e) 11
(d) 31
3
(e) non
The solu
(a) x =
() x =
(¢) x =
@ x =
(e) x =
Below is
does not
(a) s =
(b) s =
(¢) 8=
(@ s =

(e) 8§ =

tion ;%5- + E%g' =1 has the same roots as the equation
-4x - 13 =0
-2x - 15 =0
-2x + 17 = 0
-4x + 15 =0
-8x + 13 = 0

of two numbers is 14, The first number exceeds twice the second
v 3. The first number is

e of these

, \ 2 2
tion of the equation a’x + 4 =b - 4x is
w2 -8 /@ - )

b2 / a2

2
4 / (a2 - b+ 4)
2
1/ @ - b2+ 4)
®2 - &) / (&% + &)

a list of 5 sets, each with an algebraic operation. Which one
have the property of closure?

the positive real numbers; multiplication
the positive real nqmbers; addition

{-1, 1}; multiplication

integers that are perfect squares; addition

integers that are perfect squares; multiplication



13.

1l4.

15.

16.

Which of the following statements is true of ;%~?
(@) ~l-8-= 10

®) 20,

(c) ;% - 1

@) g is undefined

(e) none of these

The scolution set of x{x - 1) = 6 is

(a)
(b}
(e)
(d)
(e)

3
(a)
(b)
(¢)

(d)
(e)

{6}
{3}
{6,7}
{-2,3}

{0,1}

3
V56 - V16 simplifies to

3
V2
3
/38

38

3

3

18 - V16

none of these

Which of the following statements is not true?

(a)
(b)
(e)
(d)
(e)

The product of two real numbers is a real number

The product of two rational numbers is a rational number

The product of two irrational numbers is an irrational number

The product of an irrational number and a rational number is a real number

The product of a rational number and a counting number is a rational number



17. The intersection of the graph of v = (x - 1)2 ~ 4  and the x-axis
consists of

(a) two points
(b) mno points
() (1,0)
(@) (1,4

(e) three points

18. (27)2/3 + (9)—1/2 equals
(a) 27
2
(b) 15
(c) O
(d) 3
(e) 28
3
19. The solution set of the equation T l_:~£i. = 5 is

(a) the empty set

101
® 1,5
© )
(d) {i—}
(e) {—3—}

20. Consider the quadratic equation x2 + bx + ¢ = 0 with unknown coefficients
b and c. The roots of this equation are integers and it is known that one is
odd while the other is even. Then
(a) b and ¢ are both even integers
(b b and ¢ are both odd integers
(¢) b is an even integer and ¢ is an odd integer

(d) b ds an odd integer and ¢ is an even integer

(e) mneither b nor ¢ dis an integer



21,

22,

23.

24,

Which of the following is a factor of 1Za4 - 832 - 157

(a)
(b)
(c)
(d)
{e)

The

V2a + V3
2a + V5

2a - V5

da - 3

fa + V5

solution set of the inequality: =x dis a real number and

can be represented graphically on the real number 1line as

(a)
(b)
(c)
(d)
(e)
The
(a)
(b)
(c)
(d)
(e)

The
Then

(a)
(b)
(e)
(d
(e)

a line segment of length 6

a line segment of length 12

jui]

ray (half-line)} with end-point x =

11

a pair of rays (half-lines) with end-points at

a pair of rays (half-lines) with end-points at

X

X

11 and x

11 and x

simplest form of the expression (x3y - y3x)/(x2y + yzx) is

xy{x + ¥y)
(x + y)/xy
xX-7
X+ y
(x - y)/=xy
function f(x) = ax + b/x has values
a and b are given by:
a=2,b=1
a=2,b=2
a = g-, b = - %
a=-3,b=1
a = - g—, b = 3%

£(2) =5

and f{4) = 0,

|x - 5] /3 >2



Tom, Dick, and Harry are all working at the job of putting stamps on envelopes.
In a given amount of time, Tom can do 2/3 of the number done by Dick, and Dick
can do 3/4 of the number done by Harry. If together the boys stamped 1800 en-
velopes in one hour, how many were done by Tom?

(a) 300
(b) 400
(c) 450
(d) 500
(e) 600

Let 1 = v¥-1. Then %-=

(a) ¢
(b) O
{(c) ~i
(@ i’
(e) 1
The solutions of the equation 25x2 - 20k + 13 =0 are
(a) - %— and 1
™) 13 1
5 and 5
23t 2 3
{c) 5 5 and 5 T3
@ 2, 7 271
5 5 and 5 5

{e) none of these

Fet v and f\ denote the union and intersection of sets, respectively, and
if S is a set let $' denote the complement of S. Let § denote the empty set.
Which of the following is not a property of the operations on sets?

(a) sUs =35

(b) sMNs' =9

() (SUD' =5s"Y T

@ sUacAm=6cuUnnNsUw

) sNTUW=6NT UMW



29,

30.

31.

32.

Assuming that {xz - 4| < 6, then x must be
(a) ~vV2 < x < V2

(b 2 < =x <10

() ~¥10 < =x < V10

(d) ~-10 < x < 2

(e) -10 < x < 10

The solution set of the equation ¥10 - 6x = x - 3 is

(a) {1}
(b) {-1}
{c) {0}
(@) {1, -1}

(e) the empty set

The graph of the equation |x| + |y| =1 is best described by the following
geometrical term:

{(a) circle

{(b) straight line

(c) right angle

(d) line segment

(e) square

In a round trip between Abilene and Dodge City, S$1lim is able to drive his

VW Super Beetle at 50 miles per hour from Abilene to Dodge City but on the
return trip with a tail wind he drives at 75 miles per hour. Then Sue drives

the same round trip in the same time as Slim, but at a constant rate. How
fast does Sue drive?

(a) 65 m.p.h.
(b) 64 m.p.h.
(c) 62.5 m.p.h.
(d) 60 m.p.h.

(e) none of the above



et x be the length of an edge of a cube, V 1its velume, and 5 its
surface area. Find V as a funection of S.

2
(a) v=s3/ / (6v6)

2/3
(b) V=063 /
3
S
(c) V = (—6’
3
(&) v=25
1/2
(e) V = ¥38 /
3 2 . .
The graph of f(x) = &~ + 4x - Tx + 2 intersects the x~axis
{(a) once
(b) twice

(c) three times
(d) four times

{e) none of the above

What is the slope of a line perpendicular to the line whose equation is

99x + 101y = 1007

{(a) m = 101
99

®) m= 99
101

99

c = - -
() m 101
101

d - - 101
@ =n 99

(e) none of these



36.

37.

38.

10

3x + 8y = 7
Consider the system of equations 40 with the unknown

4~y =k
5% 3 ¥

constant k., Find the set of all wvalues of k for which the system of
equations has a solution.

(a) k= %_
® k#+ 2
) k# 2
@ k= §-j}

{(e) Lk can be any real number

Suppose that Xps Xgy «ens X are real numbers with the kth term x,
given by X = i_1 . k=1,2,3,... . Then the sum x -+ X  + X, + ..
x  k k1l B L2 73

(a) 20 equals

21
(b) 20

19
() 19

20
() 21

20

(e) none of these

If (6, 1) is the lowest point on the graph of y = axz + bx + ¢, then

you can be sure that

(a) b® - 4ac =0
(b) b2 - hac < 0
() b2 - hac > O

(d) b - bac =1

(e) b - bac = 6

.t XZO



39.

40,

(2/‘ - /5_) / 3 can be expressed as

(a)

(b)

(e)

(d)

(e)

Wi

2/51/3

1/(2/2_-/5‘)
—1/ 32V + V5 )

none of these

Consider the expression E = (2k - 1}

Which of the following could not possibly be a value for

.(a)
(b)
(c)
(D)
(e)

1

19

9

361

529

in which k 1is an integer.

11



